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Marc-Antoine participatd in thc Montrdal Marathon. The graph below represents

-.\

how far he ran durinE the rnarathon in relation

a) How lonE did it take Marc-Antoine to
complete the race?

What distance was covered during
the run?

C) Wrat gpe of function is associated with
this situation?
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Marc'Antoine participated in the Montr6al Marathon. The graph below represents
how far hc ran during the marathon in relation to time.

a) How long did it take Marr.Antoine to
complete the race?

b) What distance was covered during
the run? 

t1a r^

C) Wnat type of function is associated with
this situation?
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